985410
REAR VIEW MIRROR INSTRUCTION SHEET

C-K 10-20, C30 TRUCKS (EXCEPT COWLS & C3608) & CORVAIR 95

BOLT 3/8-16X 5/8

\
DRILL (2) 18/64
INCH DIA, HOLES
\

\
DRILL (4) . 191 INCH
DIA. HOLES (NO. 11 DRILL)

/
® Mg%% X3/8
N ~@=®

\
mucx INSTALLATION

o—

-

-

TEE BOLT INT. TOOTH INTERNAL, TOOTH
1/4-28X1/2 LOCK. WASHER DLEFCE{R&TS‘;{;‘QOTH LOCK WASHER
INT. TOOTH NUT PLAIN WASHER NUT
LOCK WASHER
NUT GASKET S — MIRROR SUPPORT

=

BRACKET # 1

BOLT 3/8-18 X 3/4

) INT. TOOTH
. LOCK WASHER

FRONT EDGE NOT .
OF C.V. PILLAR \ \ i\

\ .

\ BRACKET #1 o)
. \ \ & . _af)  ASM.
| \ GASKET - proet®
.\ /',v. < e -
\ vt Cr
¥RONT OF CAR \ — NS L
‘ ‘\ \ Pu (@

\ \] l\.yg/lﬁf—)\v Lou

PLAIN WASHER

BOLT 3/8-16X5/8

NUT 3/8-18

SUPPORT BRACKET
& GASKET

AN
) 77
e-—"’J SCREW 14-10X 3/4
NT. TOOTH

BRACKET # 2 LOCK WASHER

mFor proper mirror adjustment, mirror-can
be positioned in slots in mijrror support.
For additional in & out adjustment support
bracket can be positioned inside of arm.

STEP 1 ON L.H. SIDE ONLY, REMOVE & DISCARD EXIST-
ING MIRROR & ATTACHING PARTS. PLUG HOLES WITH
PARTS PROVIDED. SEE FIG. 1.

STEP 2 MARK HOLE CENTER AT TOP OF DOOR & VERTI-
CAL CENTERLINE AT BOTTOM FROM FRONT EDGE OF

'C.V, PILLAR, USE DIMENSIONS SHOWN, USING TOP BRACK-

ET (STAMPED # 1) AS TEMPLATE, MARK REMAINING TOP
HOLE. SEE FIG, 1.

STEP 3 CENTERPUNCH & DRILL TOP HOLES & ATTACH
TOP BRACKET (STAMPED #1) & GASKET WITH ATTACH-
ING PARTS PROVIDED, SEE FIG, 1.

STEP 4 ASSEMBLE SUPPORT BRACKETS & GASKETS TO
ARM. SEE FIG. 1. JEIX[A Do not spread brackets over tube,
but assentble from arm end.

STEP 5 ASSEMBLE BRACKET (STAMPED #1) TO TOP SIDE
OF LOWER PART OF ARM, & BRACKET (STAMPED #2) TO
BOTTOM SIDE OF LOWER PART OF ARM WITH ATTACHING
PART PROVIDED. SEE FIG. L.

1862 Chevrolst Diviglon
ks Genorrl Mators Carp.

STEP 6 ATTACH UPPER PART OF ARM TO UNDER SIDE OF
TOP BRACKET WITH ATTACHING PARTS PROVIDED. SEE
FIG. 1. :

STEP 7 LINE UP LOWER BRACKETS WITH CENTERLINE
PREVIOUSLY MARKED, USE BRACKETS AS TEMPLATE.
MARK HOLE CENTERS, CENTERPUNCH & DRILL
BOTTOM HOLES. SEE FIG. 1.

STEP 8 ATTACH BOTTOM BRACKETS & GASKETS W1TH
ATTACHING PARTS PROVIDED, SEE FIG. l.

STEP 9 ASSEMBLE MIRROR SUPPORTS TO MIRROR WITH
ATTACHING PARTS PROVIDED, SEE FIG. 1.

STEP 10 INSTALL MIRROR BY ATTACHING MIRROR SUP-
PORTS TOSUPPORT BRACKET WITH ATTACHING
PARTS PROVIDED. SEE FIG, 1.

STEP 11 FOR R.H. REAR VIEW MIRROR INSTALLATION
REPEAT STEPS 2 THRU 10.

346



_
BOLT 3/8-16X5/8

BOLT 3/8-16X 5/8 NUT 3/8-16

EE BOLT INT. TOOTH INT. TOOTH INT., TOOTH
T 28X 1/2 LOCK W ASHER LOCK WASHER LOCK WASHER
1/4 - PLAIN WASHER NUT
INT. TOOTH
LOCK W ASHER
NUT
- - —
K

BRACKET # 1

DRILL (2) 18/64
INCH DIA. HOLES |

)
/ ; / SUPPORT BRACKET
/ & GASKET
!
BOLT 3/8-16X 3/4
INT, TOOTH
/ LOCK W ASHER
NUT :
i MIRROR
ASM

BRACKET # 2
!
' ‘/\ GASKET
) / FRONT EDGE .

// OF C.V. PILLAR

. @—ﬂm@ .
_)\\/ . ,, 4@6@
L ~_9/16 . , SCREW 14-10X 3/4
_—

/ / ,’P INT. TOOTH
DRILL (4) 191 INCH DIA, LOCK WASHER
HOLES (NO. 11 DRILL) BRACKET # 1

6-18X 3/8
@ M%%WVSQSHE% / m For proper mirror adjustment, mirror can
. be positioned in slots in mirror support.
M For additional in & out adjustment support

K - A .
CORVAIR 95 INSTALLATION bracket can be poslt\loned inside of arm

I |

STEP la ON L, H. SIDE ONLY, REMOVE & DISCARD EXIST- STEP 6a ATTACH UPPER PART OF ARM TO TOP SIDE OF
ING MIRROR & ATTACHING PARTS. PLUG HOLES WITH TOP BRACKET WITH ATTACHING PARTS PROVIDED. SEE
PARTS PROVIDED, SEE FIG. 2. FIG. 2.

STEP 20 MARK HOLE CENTER AT TOP OF DOOR & VER- STEP 74 LINE UP LOWER BRACKETS WITH CENTERLINE
TICAL CENTERLINE-AT BOTTOM FROM FRONT EDGE OF PREVIOUSLY MARKED, USE BRACKETS AS TEMPLATE,
C.V. PILLAR, USE DIMENSIONS SHOWN. USING TOP MARK HOLE CENTERS, CENTERPUNCH & DRILL BOTTOM
BRACKET (STAMPED #1) AS TEMPLATE, MARK REMAIN- HOLES. SEE FIG. 2.

ING TOP HOLE, SEE FIG, 2.
) STEP 8a ATTACH BOTTOM BRACKETS & GASKETS WITH
STEP 3¢ CENTERPUNCH & DRILL TOP HOLES & ATTACH ATTACHING PARTS PROVIDED. SEE FIG. 2.
TOP BRACKET (STAMPED # 1) & GASKET WITH ATTACH -
ING PARTS PROVIDED. SEE FIG, 2. STEP 90 ASSEMBLE MIRROR SUPPORTS TO MIRROR WITH
4 ATTACHING PARTS PROVIDED. SEE FIG, 2.
STEP 4a ASSEMBLE SUPPORT BRACKETS & GASKETS TO
ARM, SEE FIG, 2.JJIJI Do not spread brackets over tube, STEP 100 INSTALL MIRROR BY ATTACHING MIRROR SUP-
but assemble from arm end. PORTS TO SUPPORT BRACKETS WITH ATTACHING PARTS
PROVIDED. SEE FIG. 2.
STEP 5a ASSEMBLE BRACKET (STAMPED # 2) TO TOP
SIDE OF LOWER PART OF ARM, & BRACKET (STAMPED
4 1) TO BOTTOM SIDE OF LOWER PART OF ARM WITH STEP 11a FOR R.H. REAR VIEW MIRROR INSTALLATION
ATTACHING PARTS PROVIDED. SEE FIG, 2. REPEAT STEPS 2a THRU 10a,

347



